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Calculate the maximum current through the inductor L.

Current increase during switch on time: ∆݅௅ = ௩ಽ ೞ்ೢ஽
௅

= .ܣ	3.6

Pin = Po =12*Iin= 48*0.6 => Iin=2.4 A.
The input current which is the same as the inductor current is flowing continuously.
Related to continuous inductor current, the peak current is the average current plus
half of the current increase during the switch on-time:

݅௅௠௔௫ = ௜௡ܫ + ∆௜ಽ
ଶ

= 2.4 + 1.8 = 4.2	A
This also gives the minimum value of the inductor current:

݅௅௠௜௡ = ௜௡ܫ −
∆௜ಽ
ଶ

= 2.4 − 1.8 = 0.6	A
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